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Q.1 Select the most appropriate option that can be used as a one-word substitute for the
underlined group of words.

| was feeling feverish. | asked for the instrument for measuring my temperature.

Ans X 1.nanometer
< 2. barometer
¥ 3. thermometer

< 4. manometer

Question ID : 1034353712
Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate option to fill in the blank.
| am sure he you if you ask him.
Ans o 1. will help
< 2.is helping
< 3. helps
< 4. has helped

Question ID : 1034353699
Status : Answered
Chosen Option : 1




Q.3 Select the option that gives the most appropriate synonym of the underlined word.

He got a good scolding when his ball hit an expensive vase.
Ans X 1.decorated

< 2. cheap
< 3. moderate

«" 4. costly

Question ID : 1034353706
Status : Answered
Chosen Option : 4

Q.4 Select the most appropriate meaning of the given idiom.
Sticky fingers
Ans X 1. Atendency to interfere
" 2. An inclination to steal
< 3. A habit of licking fingers
25 4. A tendency to forget

Question ID : 1034353707
Status : Answered
Chosen Option : 2

Q.5 The following sentence has been divided into parts. One of them may contain an error
in spelling. Select the part that contains the error from the given options. If you don’t
find any error, mark ‘No error’ as your answer.

As the path lies / through a dence forest, / you should take a guide.
Ans X 1. As the path lies

#5 2. you should take a guide
< 3. No error

" 4. through a dence forest

Question ID : 1034353709
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate option to fill in the blank.

The chapter on Longitudes begins page 16 of your Geography book.
Ans X 1.with

& 2.0n
25 3. for
K 4in

Question ID : 1034353698
Status : Answered
Chosen Option : 2




Q.7 Select the most appropriate option that can be used as a one-word substitute for the
underlined group of words.

In Ranikhet, there are a number of gardens with apple trees.
Ans 4 1.orchards

X 2. fields

25 3. parks

25 4. nurseries

Question ID : 1034353711
Status : Answered
Chosen Option : 1

Q.8 Select the option that gives the most appropriate synonym of the underlined word.

As soon as the drizzle ceased, Suraj hurried towards his house.
Ans X 1. started

< 2. caused

< 3. began

«# 4. stopped

Question ID : 1034353705
Status : Answered
Chosen Option : 4

Q.9 Select the most appropriate ANTONYM of the given word.
Hardy

Ans 4 1. Delicate

< 2. Robust

< 3. Strong

< 4. Tough

Question ID : 1034353704
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate option to fill in the blank.
This is the hotel we stayed last time when we last came to Vaishno Devi.
Ans 4 1. where
5 2. when
< 3. there
5 4. here

Question ID : 1034353700
Status : Answered
Chosen Option : 1




Q.11 Select the most appropriate option to fill in the blank.

Mrs Anand works in same office as her husband.
Ans X 1.noword

X 2.a
«" 3. the
X 4.an

Question ID : 1034353702
Status : Answered
Chosen Option : 3

Q.12 Select the most appropriate option that can substitute the underlined proverb in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

| asked my brother to drive slowly on the mountain road as it is better late than never.
Ans  &* 1. No substitution required

< 2. good to be delayed
< 3. better delayed than not at all

/5 4. better safe than never

Question ID : 1034353708
Status : Answered
Chosen Option : 3

Q.13 Select the most appropriate option to fill in the blank.

There is orange tree in my garden.
Ans X 1.the

K 2a
< 3. no word

" 4. an

Question ID : 1034353701
Status : Answered
Chosen Option : 4

Q.14 The following sentence has been divided into parts. One of them may contain an error
in spelling. Select the part that contains the error from the given options. If you don’t
find any error, mark ‘No error’ as your answer.

This plantation produces tea / which eventually reaches / the Buckingham Palace
kichens.

Ans X 1. This plantation produces tea
«" 2. the Buckingham Palace kichens
25 3. which eventually reaches

25 4. No error

Question ID : 1034353710
Status : Answered
Chosen Option : 2




Q.15 Select the most appropriate ANTONYM of the given word.

Ans

Timid
< 1. Afraid
< 2. Nervous
« 3. Bold

X 4.shy

Question ID : 1034353703
Status : Answered
Chosen Option : 3

Q.16

Ans

Comprehension:

Read the given passage and answer the questions that follow.

Narmada River is a major and important river of central as well as western part of India. It
originates from the Amarkantak plateau in Madhya Pradesh and then, while travelling, it
touches the border of Maharashtra and enters Gujarat before draining into the Gulf of
Khambhat near the Bharuch city of Gujarat.

The origin of the river is an open pool ‘Narmada Kund'’ located in Amarkantak. The pool is
considered holy. Various Hindu temples of many gods and goddesses cover Narmada Kund,
including Siddheshwar Mahadev Temple, Suryanarayan Temple and Annapurna Temple.
Tourists from different parts of the world visit this site.

Narmada River is widely regarded as a significant river in the peninsular India, flowing from
the east to the west along with other rivers like Mahi River and Tapti River. It is also known as
Reva River. It flows in a rift valley and divides North India from South India. Narmada River is
considered as the lifeline of Madhya Pradesh as it plays a very important role in agriculture,
irrigation as well as in transportation through inland waterway.

Narmada is also considered a very sacred river as many religious places, including
Omkareshwar Jyotirlinga are situated, on its banks. It is the third-longest river in India which
flows within its boundary after Godavari and Krishna rivers.

It has some of the panoramic ghats on its banks at the Hoshangabad district. Near Jabalpur,
the river flows through the Marble Rocks. The river has carved the soft marble, creating a
beautiful gorge of about 8 km in length. It is a popular Indian tourist destination. The local
marble is mined and carved into various figures and transported all over India.

SubQuestion No : 16

Narmada River is considered as the lifeline of Madhya Pradesh. What is the main
reason?

< 1. It divides North India from South India.
25 2. Many religious places are situated on its banks.
X 3. It attracts a large number of tourists.

" 4. Itis used for irrigation and transportation.

Question ID : 1034353717
Status : Answered
Chosen Option : 4




Comprehension:
Read the given passage and answer the questions that follow.

Narmada River is a major and important river of central as well as western part of India. It
originates from the Amarkantak plateau in Madhya Pradesh and then, while travelling, it
touches the border of Maharashtra and enters Gujarat before draining into the Gulf of
Khambhat near the Bharuch city of Gujarat.

The origin of the river is an open pool ‘Narmada Kund’ located in Amarkantak. The pool is
considered holy. Various Hindu temples of many gods and goddesses cover Narmada Kund,
including Siddheshwar Mahadev Temple, Suryanarayan Temple and Annapurna Temple.
Tourists from different parts of the world visit this site.

Narmada River is widely regarded as a significant river in the peninsular India, flowing from
the east to the west along with other rivers like Mahi River and Tapti River. It is also known as
Reva River. It flows in a rift valley and divides North India from South India. Narmada River is
considered as the lifeline of Madhya Pradesh as it plays a very important role in agriculture,
irrigation as well as in transportation through inland waterway.

Narmada is also considered a very sacred river as many religious places, including
Omkareshwar Jyotirlinga are situated, on its banks. It is the third-longest river in India which
flows within its boundary after Godavari and Krishna rivers.

It has some of the panoramic ghats on its banks at the Hoshangabad district. Near Jabalpur,
the river flows through the Marble Rocks. The river has carved the soft marble, creating a
beautiful gorge of about 8 km in length. It is a popular Indian tourist destination. The local
marble is mined and carved into various figures and transported all over India.

SubQuestion No : 17
Q.17 Which of the following places is NOT likely to attract many tourists?
Ans X 1. Narmada Kund at Amarkantak

< 2. Marble Rocks near Jabalpur
” 3. Gulf of Khambhat near Bharuch

25 4. Ghats on the banks at Hoshangabad

Question ID : 1034353718
Status : Answered
Chosen Option : 3

Comprehension:
Read the given passage and answer the questions that follow.

Narmada River is a major and important river of central as well as western part of India. It
originates from the Amarkantak plateau in Madhya Pradesh and then, while travelling, it
touches the border of Maharashtra and enters Gujarat before draining into the Gulf of
Khambhat near the Bharuch city of Gujarat.

The origin of the river is an open pool ‘Narmada Kund’ located in Amarkantak. The pool is
considered holy. Various Hindu temples of many gods and goddesses cover Narmada Kund,
including Siddheshwar Mahadev Temple, Suryanarayan Temple and Annapurna Temple.
Tourists from different parts of the world visit this site.

Narmada River is widely regarded as a significant river in the peninsular India, flowing from
the east to the west along with other rivers like Mahi River and Tapti River. It is also known as
Reva River. It flows in a rift valley and divides North India from South India. Narmada River is
considered as the lifeline of Madhya Pradesh as it plays a very important role in agriculture,
irrigation as well as in transportation through inland waterway.

Narmada is also considered a very sacred river as many religious places, including
Omkareshwar Jyotirlinga are situated, on its banks. It is the third-longest river in India which
flows within its boundary after Godavari and Krishna rivers.

It has some of the panoramic ghats on its banks at the Hoshangabad district. Near Jabalpur,
the river flows through the Marble Rocks. The river has carved the soft marble, creating a
beautiful gorge of about 8 km in length. It is a popular Indian tourist destination. The local
marble is mined and carved into various figures and transported all over India.

SubQuestion No : 18
Q.18 Which of the following temples is NOT located at Narmada Kund?
Ans X 1. Annapurna Temple

X 2. Siddheshwar Mahadev Temple
< 3. Suryanarayan Temple
«” 4. Omkareshwar Jyotirlinga

Question ID : 1034353715
Status : Answered
Chosen Option : 4




Comprehension:
Read the given passage and answer the questions that follow.

Narmada River is a major and important river of central as well as western part of India. It
originates from the Amarkantak plateau in Madhya Pradesh and then, while travelling, it
touches the border of Maharashtra and enters Gujarat before draining into the Gulf of
Khambhat near the Bharuch city of Gujarat.

The origin of the river is an open pool ‘Narmada Kund’ located in Amarkantak. The pool is
considered holy. Various Hindu temples of many gods and goddesses cover Narmada Kund,
including Siddheshwar Mahadev Temple, Suryanarayan Temple and Annapurna Temple.
Tourists from different parts of the world visit this site.

Narmada River is widely regarded as a significant river in the peninsular India, flowing from
the east to the west along with other rivers like Mahi River and Tapti River. It is also known as
Reva River. It flows in a rift valley and divides North India from South India. Narmada River is
considered as the lifeline of Madhya Pradesh as it plays a very important role in agriculture,
irrigation as well as in transportation through inland waterway.

Narmada is also considered a very sacred river as many religious places, including
Omkareshwar Jyotirlinga are situated, on its banks. It is the third-longest river in India which
flows within its boundary after Godavari and Krishna rivers.

It has some of the panoramic ghats on its banks at the Hoshangabad district. Near Jabalpur,
the river flows through the Marble Rocks. The river has carved the soft marble, creating a
beautiful gorge of about 8 km in length. It is a popular Indian tourist destination. The local
marble is mined and carved into various figures and transported all over India.

SubQuestion No : 19
Q.19 What is another name of the river Narmada?
Ans 1. Reva

X 2. Tapti
5 3. Mahi
25 4. Krishna

Question ID : 1034353716
Status : Answered
Chosen Option : 1

Comprehension:
Read the given passage and answer the questions that follow.

Narmada River is a major and important river of central as well as western part of India. It
originates from the Amarkantak plateau in Madhya Pradesh and then, while travelling, it
touches the border of Maharashtra and enters Gujarat before draining into the Gulf of
Khambhat near the Bharuch city of Gujarat.

The origin of the river is an open pool ‘Narmada Kund’ located in Amarkantak. The pool is
considered holy. Various Hindu temples of many gods and goddesses cover Narmada Kund,
including Siddheshwar Mahadev Temple, Suryanarayan Temple and Annapurna Temple.
Tourists from different parts of the world visit this site.

Narmada River is widely regarded as a significant river in the peninsular India, flowing from
the east to the west along with other rivers like Mahi River and Tapti River. It is also known as
Reva River. It flows in a rift valley and divides North India from South India. Narmada River is
considered as the lifeline of Madhya Pradesh as it plays a very important role in agriculture,
irrigation as well as in transportation through inland waterway.

Narmada is also considered a very sacred river as many religious places, including
Omkareshwar Jyotirlinga are situated, on its banks. It is the third-longest river in India which
flows within its boundary after Godavari and Krishna rivers.

It has some of the panoramic ghats on its banks at the Hoshangabad district. Near Jabalpur,
the river flows through the Marble Rocks. The river has carved the soft marble, creating a
beautiful gorge of about 8 km in length. It is a popular Indian tourist destination. The local
marble is mined and carved into various figures and transported all over India.

SubQuestion No : 20
Q.20 What are the origin and end places of the river Narmada?
Ans X 1. Marble Rocks - Gulf of Khambhat

25 2. Amarkantak - Marble Rocks
25 3. Gulf of Khambhat - Marble Rocks

«# 4. Amarkantak - Gulf of Khambhat

Question ID : 1034353714
Status : Answered
Chosen Option : 4




Ans

Q.21 fffafad ¥ I 5 JEmarad 2 A g JURT 781 8T -

X 1.9R%
X 2. ghari
o 3. e
X 4. 1E

Question ID : 1034353724
Status : Answered
Chosen Option : 2

Ans

Q.22 gfedwet MM HA & 312 ¥ T erar &1y gm?

o 1. 719 fHETR @
25 2. AR STt

< 3. 919 "SR ¥ ygAT
X 4. @ AT

Question ID : 1034353733
Status : Answered
Chosen Option : 1

Ans

Q.23 fafafEay A 39 fised o1 ag7 HIfA A w1 U ao@ § 3R Fit-mit agaem ¥y gar 3-

< 1. SITfdarads S

X 2. SHRIA ifelT H3MY
X 3. ToraTaes fagror

o 4. THATa® T

Question ID : 1034353722
Status : Answered
Chosen Option : 1

Ans

Q.24 fiAfafa ¥ ¥ Tgaere BT aa4 Hifed-

o 1.5
&< 2.uy
X 3.3uR
X 4T

Question ID : 1034353726
Status : Answered
Chosen Option : 3

Ans

Q.25 qgd- T BT BI-9T I FAfera T8 &2

X 1. die—dg

X 2. U7 — TN

X 3. TR — TR
o 4. PIfbd —Brad

Question ID : 1034353731
Status : Answered
Chosen Option : 3




Q.26 fyafafEa ¥ & Pi-a1 fawea pe* o1 v 3ref T &2
Ans X 1. A6

o 2. 90f

X 3.8

X 4

Question ID : 1034353727
Status : Answered
Chosen Option : 1

Q.27 °3q + $uq = AfduT ¥ B @ Afw &2
Ans X 1 gurgfE

X 2. 3t af=r

o 3. & afg

X 4RI

Question ID : 1034353723
Status : Answered
Chosen Option : 4

Q.28 ety ¥ 6fa -

Ans X 13T g
X 2. qurEfa
X 3. Uty
o 4. gfg dfa

Question ID : 1034353729
Status : Answered
Chosen Option : 4

Q.29 7w BT yAE A A 9 &-
Ans  » 1, Sredt

X 2. afar

X 3. afHar

< 4RI

Question ID : 1034353732
Status : Answered
Chosen Option : 1

Q.30 I fogRT Bifs HR, B2 349 BT STI
AT B g R, BE P | AT 1
Q8 ¥ WY 36PN &-
Ans  # 1 30T
X 2. yifqum
X 3. faernf
X 4. BUB

Question ID : 1034353730
Status : Not Answered
Chosen Option : --




Q.31 ffafea dfermal ¥ S a1 3eeRr 82
3 IeafifR wa W, TgaR a1 v |
fIpRY Fa TR, T e Y i

Ans 71 BUB
X 2. v
X 3. 338
4. 3uHT

Question ID : 1034353720
Status : Answered
Chosen Option : 1

Q.32 fmfafEa ¥ A 39 3Pl 2 B T IS ot 1 fom § ygae gar @ -
Ans X 1. "

X 2.99

X 3. fisr

o 4. fafe

Question ID : 1034353721
Status : Answered
Chosen Option : 2

Q.33 g feat 3R gk B UHE - I8 Ferad Ba FE A T2
Ans X 1. 79 BIE PTH Y H B foTTS ST (A9 B &)
X 2. |1 U Y glefd H 81 W Ped 8
& 3. 519 BIS U 7T R fSraes 98 A1 7 €1 (a9 Bed §)
X 4. TG PBIE U TS BISTHR GAR DY Tl BT 3BT &R (9 PEd &)

Question ID : 1034353725
Status : Not Answered
Chosen Option : --

Q.34 fymfafaa araier ¢ & fdT U 2reg &1 7 HifSg-
UG A Y ZTBI

Ans xLaizﬁ'q
X 2. et
o 3. ar
X 4. &R

Question ID : 1034353719
Status : Answered
Chosen Option : 3

Q.35 fimfcfea ¥ I fha fimea & QA 2reg 3muw & faadarelf &2
Ans X 1. offd—did

2 2. TTHET- HIHAT

X 3. fafga- dgfea

o 4. arrt — o

Question ID : 1034353728
Status : Answered
Chosen Option : 4




Comprehension:

w7 mErier & YR R AT gedf & 3R S

T it BT -7 et o, G P TS UehT H HET P HHI 31T 3T Rt bl THT | g7 Fa
TS H | 3T STTAT & Y $<8T 21t & UgTel & 3ieret § BUR M P TdTT BT 5RT BH B o

S BT HEMT &7 TRg T8 TH B, qaTedl I 3= 31aead FTHI 1 I gF e 8 udaf &
FIRAR —p2HR &1 I W

S MEN FWR T T 3R 3V ggT @it aY fEgdh! o< Fh g7 |1 | e et a7 gR feifeer & gif
foBROT 3197 3R & Habd RN STial Bl HwaqT It <l ol fAeeTeTd ddl & gaReie Bl IR BY
396 g F § el o G H wfiee g1 R e TE gorredt oft 3R Y weprer 8 Qv &m| | B
TRE I Tl g€ Tep AR Aedf TR T | BR-BY a3 A, g, IhRAT deT 7 W A Y o
TS & AT et 3 & Tty v & 216 qufeal & 52 @8 2aer & ger, faudt g€ aan,
Wedbd, YR a1 GATd 37 FebRR o IT-fe uaft, A Y ynreiierst, weret Adl &l urT, <o R
SEPBY T G B AT S o R U OR ST bt 0t et e Iadit oft, UTsl W e el wRd bl
Y T IR ST Y TR ST 3ol I b g7 SR Ugd 3R grec § ST /Y Y
SaT-gilel H IR WR AT BT MY 31T € 37gHd T AT b HARH I, UgT8] IR IeT, I Bl JaRl,gY
St A < wgIfEaT 3R gfeal § goerdt dn-fad fadferal — arel @ g goa e

HHR BT g A T BT TRUT B € AR 523 S VbR FIH 3T 71 & oKy a8 § O A=< b
3R S Y fAerd €, 3 Sfiad & iR Wfd o 57 €

ST T Ue AT &1 ATAT R A ARG P H1f 1l HTed, Waaw , B AieW]dT P fopareted
folef fAeTdT 1 ORTIR HEANT Bl HTaAT dgd! 84l Briash J icrd fHer I FR1er sfied # 3mem &7
TR BT &, 7 W TR, At 3 B @R 2l S 81 IRER YTG 96T € T -G & gE-gid
BT GASH BT 3R Herar 81 fafi=r sifaar a weml & dfa-Rarsi, wrensit 3nfe & g7 akfad aid d159
YHR T BT HIS Siaq | [ wgwd 81

SubQuestion No : 36

Q.36 ugrs ¥ yAtgaTe 2-Ag ATt fawey B 7w Hiford-

Ans

X 1. 39E,PIE, oA
o 2. 31T, S, BIEAR
72X 3. 3ad, I, 37T
X 4.Fe LR

Question ID : 1034353737

Status : Not Answered

Chosen Option : --




Comprehension:

few v Terier & AR W FEfAfEd gedt & 3w &S

T i T -7 Bl o, G b TS UepT H HET P HHI 31T 3Ted! et bl THT | 57 Fa
TS H | 3T STTAT & Y $<8T 21t & UgTel & 3iferet § BUR M P TdTq BT 5RT BH B o

ST BT HEMT &7 TReg T8 TH U, qaTedl T 31T 31aed FTHI W1 I gH e 08 uda &
FERAR —2HR BT I/ W

S MEN FWR T T 3R BV ggT @it aY fEgdh! g Fh g7 |1 | A Gt a7 gR feifeer § gif
foBROT 3197 3R & Habd RN STial el HwaqT It <l ol fAeeieTd Uddl & gaRele Bl IR BY
39 g F § el o G H wfiee g1 R e TE goredt oft 31 e} # weprer & Qv &m) | b
TRE I Tl g€ Tep AR Al TR T | BR-BY a3 A, N, IohRAT deiT 7% W A VY o
TS & AT et 3 & Tty v & 216 qufeal & 529 @8 qaer & ger, faudt g€ @,
Wedbd, YR a1 GATd 37 FebRR o IT-fe uaft, Ael Y ynreiierst, weret el &l urT, <o ek
SEB T G B AT S b R U OR YIS bt 0t et e Iacit oft, UTsl W e el wRd bl
YN T I ST Y TR ST 3ol I b g7 SR Tgd 3R gec § ST /Y Y
BaT-giiel A IR WR AT BT MY 31T € 37gHd T AT b HARH I, UgT8] IR IeT, Bl Bl HaRl, Y
s A < wgIfEaT 3R gfeal § oot dr-fadht fadferal — arel @ g god

HHR BT g A T BT TRUT B € AR 523 S VbR FIH 31 71 & oKy a8 § O A=< b
3R S fAerd €, 3 Sfiad & iR Wfd o 571 €

ST T Ue AT &1 ATAT R A ARG P H1f 1l HTed, Waaw , B AieW[dT P fosareted
folef fAedT 1 TRTIR HEANT Bl HTaAT dgd! 8ai-ep Bridsh J icrd fHe I fRTer sfied # 3mem &7
TR BT 8, 7 W TR, anitaiR 3 B @R S S 81 IRER YTT 96T € T -G & gE-gid
BT FHSH BT 3R Herar 81 fafi=r sifaar a weml & Qfa-Rarsi, wrensit 3nfe & g7 akfEd aid d159
YHR AT BT 7T Siad o s wgwd 81

SubQuestion No : 37

Q.37 3g Terier Aifgea @ fov ferem 1 3gT80T 32

Ans

&, R

o 2. g
X 3. Rt @A
X 4. WI&MhR

Question ID : 1034353739

Status : Answered

Chosen Option : 2




Comprehension:

few v TErier & AR R FEfAfEd gedt & 3w &)

T i &Y -7 Bl o, G P TS UehT H HET P HHI 31T 3T et bl THT | g7 Fa
TS H | 3T STTAT & Y $<8T 21t & UgTel & 3ieret ¥ BUR M P TdTT BT 5RT BH B o

ST T HEMT &0 TRg T8 TH U, qaTedl T 31 31aed FTHI 1 I gF e 08 udaf &
FERAR —2HR BT I

S MEN FWR e T 3R 3V ggT @it aY fEgeh! o< Pk g7 |1 | e et a1 g¥ feifeer & gif
foBROT 3197 3R & Habd SRR STial el HwaqT It <l ol fAeeieTd ddl & gaRese Bl IR BY
396 g F § el o G H wfise g1 R e TE goredt oft 3R e # weprer & Siav &m) | B
TRE I Tl g€ Tep AR Aol TR T | BR-BY a3 A, g, IohRAT deiT 7 W A Y o
TS & AT et 3 & oty v & 216 qufeal & 52 @8 qaer & ger, fauet g€ aan,
Wedbd, YR T GATd 37 FebRR o IT-fe uaft, Al Y unreiierst, ueret A8l &l urT, <o R
TP T G B AT S o R T OR ST bt 0t et e Iadit oft, UeTsl W e wRd bl
YN T IR ST Y TR ST 3ol I b g7 TR Tgd 3R grec § ST 6 Y
BoT-gilel H IR WR AT BT MY 31T € 37gHd T AT b HARH I, UgT8] W IeT, Bl bl HaRl,gY
s A < vgIfEaT 3R gfeal § goerdt dr-fadh fadferal — arel @ g god e

HHR BT g A T BT TRUT B € TR 323 S VbR IH 3T 71 ¢ oKy a8 § O A=< b
3R ST Y fAerd €, I Sfiad &t iR Wfd o 5 €

ST T Ue AT &1 ATAT R A ARG P H1f 1l HTed, Waaw , B AieW[dT P fosareted
folefT fAeTdT 1 ORTIR HEANT Bl HTaAT dgd] 8ai-ep Bridsh J icrd fHer J fR1er sfied # 3mem &7
TR BT 8, 7 W TR, a3 B @R S S 81 IRER YTT 96T € T -G & gE-gid
BT FASH BT 3R Herar 81 fafi=r sifaar a weml & dfa-Rarsi, wrensit 3nfe & g7 akfTd aid d159
YHR T BT HIS Siad o [ wgwd 81

SubQuestion No : 38

Q.38 Trerier & ITHR HRHR I AT 3UTF 7T 32

Ans

X . oddl BT I
X 2. yddg Imme
X 3. 9% BT geer
o 4. Tddl &7 AR

Question ID : 1034353736

Status : Answered

Chosen Option : 4




Comprehension:

few v TErier & AR W FEfAfEd geodt & 3w &)

T i BT -7 Bl o, G P TS UePIT H HET I HHI 31T 3T et bl THT | 57 Fa
TS H | 3T STTAT & Y $eBT 21t & UgTel & 3ieret #§ BUR M P TdTq BT 5RT BH B o

S T HEHT & TRg T6 TH U, qaTed] T 31 1A HTHH el 3@ & fdsa g uddl &
FERAR —2HR &1 I I

S MEN FWR e T 3R 3V gg @it aY fEgdh! o< Fh g7 |1 T A et a7 gx feéifeer § gf
foBROT 3197 3R & Habd TRNToR STial el AwadT It <l ol fARTeTehTd Uddl & gaRele Bl IR BY
396 e F § el o G H wfiee €1 R e TE goredt oft 3R e} # weprer 8 Siav 27| 6 Hr
TRE I Tl g€ Tep AR Al TR T | BR-BY a3 A, N, IohRAT deiT 7 W A O o
TS & AT et 3 & Tty v & 216 quferal & 32 @8 qaer & ger, faudt g€ aan,
Wedbd, YR a1 GATd 37 FebRR o IT-fe uaft, Al Y ynreiierst, weret Al &l urT, <o R
SEPBY T G B AT S o R T OR ST bt 0t et e Iadit oft, UTsl W e el WRd bl
YN AT IR SToA-aRT Y TR ST 3ol I b g7 SR Tgd 3R grec § Sre 6 Y
BoT-giiel H IR WR AT BT MY 31T € 37gHd T AT b HARH I, UgT8] W IeT, I Bl JaRl, T
s A < wgIfEaT 3R gfeal § oot dr-fawht fadferal — arel @ g goa o

HHR BT g A T BT TRUT B € AR 323 S VbR IH 3T 71 & oKy a8 § O A=< b
3R ST Y fAerd €, I Sfiad &t iR Wfd o 5 €

ST T Ue AT &1 ATAT R A ARG P F1f 1l HTed, Waaw , B AieW[dT P fosareted
folef fAeTdT 21 ORTIR HEANT Bl HTaAT dgd] 8ai-ep Briash J fcrd fHer I FR1er sfied # 3mem &7
TR BT 8, 7 W T, amitai 3 B @R S ST 81 IRER YTT 96T € T -G & gE-gid
BT FHSH BT 3R Herar 81 fafi=r sifaar a weml & dfa-Rarsi, wrensit 3nfe & g7 akfad aid d159
YHR T BT IS Sitad | a1 wged 81

SubQuestion No : 39

Q.39 TrErier § AT & FAT @M TAR Y §7 FAT IuGA faded BT a9 Hifor-

Ans

o 1. TRER YT e, AT, e , B AEsdT o fopareres forem, 77 o wpfd, arrt

X 2. 9 9 91dl Bl STHGRT Had! & I Siiad H B 3771 8
X 3. AT B HARSH & T AT 7 B 2Aifd et §
X 4. B A FARSH & Fqrer A1 fAfi= qrensi o7 T e g

Question ID : 1034353738
Status : Answered
Chosen Option : 1




Comprehension:

Q7 mErier & IMUR R fAEfAfEd gedf & 3R &S

T it T -7 Bl o, G P TS UehT H HET P HHI 31T 37T Rt bl THT | 57 Fa
TS H | 3T STTAT & Y $<8T 21t & UgTel & 3iferet § BUR M P TdTq BT 5RT BH B o

S T HEMT & TRg $& TH U, qaTed] T 31 1A HTHH 1l I & e g uddl &
FRAR —p2HR &1 I W)

TG S HW Teq ot 3R 3UE ge ot T fEgdh! g eeh g7 |1 T i geit ar g faifast # g &r
foBROT 3197 3R & Habd Mo STial el HwaqT It <l ol fGeeTeTd ddl & gaRele Bl IR BY
39 g F § el ot G H wfiee €1 R e TE gorredt oft 3R e} # weprer & Sirav 21| /iy b
TRE I Tl g€ Tep AR At TR T | BR-BY a3 A, g, IhRAT deT 7 W A Y o
TS & AT et 3 & Tty v fad 216 qufeal & 329 @8 qaar & ger, faudt g€ @an,
e, FHR A FATd 3 YR &b T1-fR aft, 7ol Sl uriies!, Terst A4l Bl HRT, e s
B T G B AT S b R T OR ST bt 0t et e Iacit oft, uTsl W e el wRd bl
FEUTH T R TR BT TRAG Io7 351! I b g1 SR Tga 3R geet § Sra= &Y 1Y

S-S H f2rBR TR g &1 WY 37T & 3719Ha o7 TAHT &b FARA IR, TET8T W 6T, 81 & JaR, T
s A < vgIfaT 3R gfeal § oot dr-fadt fadferal — are! @ g god o

HHR BT g A T BT TRUT B € AR 523 S VbR FIH 3T 71 & oKy a8 § O A=< b
3R ST fAerd €, 3 Sfied &t iR Wfd o 5 €

STte %2 U AT 71 T R A HARSH o HTef H1 HIEH, W= , B AT B! fohateed
Torg fHeTet 81 URER HEANT bl HIGHT ded! 8&fer Priwh & Hferd fAer & fR1er Sitad # 3merm @1
IR BT 8, 7 W Tfd, a3 B @R S ST 81 IRER YTG 96T € T -G & gE-gid
BT FASH BT 3R Herar 81 fafi=r sifaar a weml & dfa-Rarsi, wrensit 3nfe & g7 akfad aid d159
YHR T BT IS Siad H [ wgwd 81

SubQuestion No : 40
Q.40 A& + foe T HY AT BI?
Ans X 1. UgTsl &l
X 2. TP 33 TR B
o 3. PAR BT
X 4. ferder Bt

Question ID : 1034353735
Status : Answered
Chosen Option : 3

Section : General Awareness & Current Affairs

Q.1 pH scale is normally used to indicate the of a solution.
Ans X 1.density

25 2. temperature
" 3. acidic or basic nature

X 4. sweetness

Question ID : 1034353746
Status : Answered
Chosen Option : 3

Q.2 ‘Rajatarangini’, a work in Sanskrit composed by Kalhana’ gives a vivid account of the
kings of:

Ans X 1. Magadh
25 2. Rajasthan

< 3. Bengal
" 4. Kashmir

Question ID : 1034353744
Status : Answered
Chosen Option : 4




Q.3 As per Census 2011 figures of India, among the following, which union territory has
the least population density?

Ans  # 1. Lakshadweep
< 2. Puducherry
< 3. Chandigarh
25 4. NCT of Delhi

Question ID : 1034353745
Status : Answered
Chosen Option : 1

Q4 79 ¥ Y P I REPR 37 YA A@®) B! a1 S a1 gafe Aifefcie weR ¢, G
ot +ft sniferepTRe WRea Wt 3 siaria wRdla wifEed ¥ avrer f&ar & 3ik 38 ag g €2

Ans X 1. IR 3TPTCHT GIRPR

X 2. Ydig PR
X 3. Bifere Iee

o 4. TS EBR

Question ID : 1034353749
Status : Answered
Chosen Option : 4

Q.5 The provisions of Directive Principles of State Policy in the Constitution of India have
been adopted from which constitution?

Ans o 1. lrish

25 2. British
25 3. French
25 4. Canadian

Question ID : 1034353750
Status : Answered
Chosen Option : 1

Q.6 The ‘Pradhan Mantri Vaya Vandana Yojana’ (PMVVY), launched in May 2020 to protect
elderly people aged 60 years and above against a future fall in their interest income
due to uncertain market conditions, as also to provide social security during old age.
The scheme is implemented through which of the following organisation?

Ans X 1. National Insurance Company Limited
" 2. Life Insurance Corporation of India (LIC)
< 3. Reserve Bank of India (RBI)

< 4. State Bank of India (SBI)

Question ID : 1034353751
Status : Answered
Chosen Option : 1

Q.7 Under the GST law, CGST, SGST and IGST are collected from the buyer depending
upon whether the transaction is intrastate or interstate. What is the full form of CGST?

Ans X 1. Common Goods and Services Tax
25 2. Combined Goods and Services Tax
25 3. Consumer Goods and Services Tax

# 4. Central Goods and Services Tax

Question ID : 1034353741
Status : Answered
Chosen Option : 3




Q.8 Which of the following was the first newspaper in India under the British Raj?
Ans X 1. Bombay Herald

«" 2. The Bengal Gazette
25 3. Sambad Kaumudi
< 4. Madras Courier

Question ID : 1034353752
Status : Answered
Chosen Option : 3

Q.9 T 31 U F FerE F T AT ST arelT gRBT 913 (Hurka Baul)' 70 e & @ fea =g
J Haftia &2

Ans 31 3R
< 2. anfgenm
X 3. ufesw e

o 4. TGS

Question ID : 1034353748
Status : Not Answered
Chosen Option : --

Q.10 The Ganga River basin, which is India’s largest river basin, includes approximately
how much percent of the nation's area?

Ans X 1.30%
o 2.25%
X 3.15%
X 4.20%

Question ID : 1034353743
Status : Not Answered
Chosen Option : --

Q.11 7/ § A P G Senfa WRa S w6 31 SEET are ik 9 R st 82
Ans 1. el

X 2.0

X 3.dm

o 4. Fared

Question ID : 1034353742
Status : Answered
Chosen Option : 1

Q.12 |y ey fadvarsil & 3R W TAferT ST & AT aiifeeor & siartd, RRaw
(TRfen) f= ¥ A g 9 (phyla) A Hdfta &2

Ans  # 1. UpsAIeHer (Echinodermata)
X 2. AIa%pT (Mollusca)
7< 3. 3mafareT (Arthropoda)
< 4. QAfdsT (Annelida)

Question ID : 1034353747
Status : Not Answered
Chosen Option : --




Q.13 From the year 2022, which Indian business conglomerate is to replace Vivo as the IPL
title sponsor?

Ans X 1.Adani
25 2. Godrej
" 3. Tata
X 4. Jio

Question ID : 1034353753
Status : Answered
Chosen Option : 3

Q.14 What is the name of India’s first home-grown testing kit that can differentiate the
Omicron strain of the novel Corona virus from the Delta, Alpha and the other variants
in under four hours?

Ans X 1. OmiCovid
< 2. CovacCheck
«" 3. Omisure
25 4. Omicheck

Question ID : 1034353740
Status : Answered
Chosen Option : 3

Comprehension:

Read the given passage and answer the questions that follow.

In the recent session of the Parliament, the Government introduced the Prohibition of Child
Marriage (Amendment) Bill, 2021 to raise the age of marriage for women from 18 years to 21
years. After the Opposition MPs demanded greater scrutiny of the Bill, it was referred to the
Parliamentary Standing Committee for Education, Women, Children, Youth and Sports. The
Government says the proposed law will ensure equal chance for women in higher education
and access to jobs and will help improve the maternal mortality rate and nutrition levels.
SubQuestion No : 15

Q.15 According to the most recent National Family Health Survey (NFHS) 5 (2019-2021), the
proportion of women who got married under the age of 18 had declined to

Ans X 1.268%
X 2.17.7%
X 3.20.6%
o 4.23.3%

Question ID : 1034353755
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given passage and answer the questions that follow.

In the recent session of the Parliament, the Government introduced the Prohibition of Child
Marriage (Amendment) Bill, 2021 to raise the age of marriage for women from 18 years to 21
years. After the Opposition MPs demanded greater scrutiny of the Bill, it was referred to the
Parliamentary Standing Committee for Education, Women, Children, Youth and Sports. The
Government says the proposed law will ensure equal chance for women in higher education
and access to jobs and will help improve the maternal mortality rate and nutrition levels.

SubQuestion No : 16
Q.16 Which of the following is NOT true about the Parliamentary Standing Committees?
Ans # 1. Only Lok Sabha members can be members of a Parliamentary Standing Committee.
< 2. Parliamentary Standing Committees are committees consisting of Members of
Parliament.

25 3. A Parliamentary Standing Committee consists of members from both the houses of
the Parliament.

X 4. Parliamentary Standing Committees are permanent and regular committees that are
constituted from time to time.

Question ID : 1034353757
Status : Answered
Chosen Option : 1

Comprehension:
Read the given passage and answer the questions that follow.

In the recent session of the Parliament, the Government introduced the Prohibition of Child
Marriage (Amendment) Bill, 2021 to raise the age of marriage for women from 18 years to 21
years. After the Opposition MPs demanded greater scrutiny of the Bill, it was referred to the
Parliamentary Standing Committee for Education, Women, Children, Youth and Sports. The
Government says the proposed law will ensure equal chance for women in higher education
and access to jobs and will help improve the maternal mortality rate and nutrition levels.

SubQuestion No : 17

Q.17 Which of the following pairs of Acts and provisions made under these Acts related to
the age of marriage is INCORRECT?

Ans X 1. The Muslim Personal Law (Shariat) Application Act, 1937 — Does not provide a
uniform age of marriage for men and women
«" 2. The Special Marriage Act, 1954 — Provides a uniform age of marriage for men and
women
< 3. The Foreign Marriage Act, 1969 — Does not provide a uniform age of marriage for
men and women

< 4. The Parsi Marriage and Divorce Act, 1936 — Does not provide a uniform age of
marriage for men and women

Question ID : 1034353756
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given passage and answer the questions that follow.
Negotiations coming up at the World Trade Organization (WTO) and the World Health
Organization (WHO) are crucial for developing countries like India. Topping the list is the
Trade-Related Aspects of Intellectual Property Rights (TRIPS) waiver that seeks a temporary
suspension of intellectual property (IP) rights under the TRIPS agreement. This waiver is
critical to address the shortages of health products, including diagnostics, vaccines and
therapeutics, because it could enable the WTO members to prevent pharmaceutical giants
from using IP to block generic production.
SubQuestion No : 18

Q.18 Which of the following is the decision-making body of the WHO?

Ans X 1. The director general

" 2. The World Health Assembly
< 3. The executive board
5 4. The governing body

Question ID : 1034353761
Status : Answered
Chosen Option : 1

Comprehension:
Read the given passage and answer the questions that follow.
Negotiations coming up at the World Trade Organization (WTO) and the World Health
Organization (WHO) are crucial for developing countries like India. Topping the list is the
Trade-Related Aspects of Intellectual Property Rights (TRIPS) waiver that seeks a temporary
suspension of intellectual property (IP) rights under the TRIPS agreement. This waiver is
critical to address the shortages of health products, including diagnostics, vaccines and
therapeutics, because it could enable the WTO members to prevent pharmaceutical giants
from using IP to block generic production.
SubQuestion No : 19

Q.19 Which of the following country’s government has an observer status at WTO?

Ans X 1. Nepal
5 2. Myanmar
< 3. Bangladesh
" 4. Bhutan

Question ID : 1034353759
Status : Not Answered
Chosen Option : --

Comprehension:
Read the given passage and answer the questions that follow.
Negotiations coming up at the World Trade Organization (WTO) and the World Health
Organization (WHO) are crucial for developing countries like India. Topping the list is the
Trade-Related Aspects of Intellectual Property Rights (TRIPS) waiver that seeks a temporary
suspension of intellectual property (IP) rights under the TRIPS agreement. This waiver is
critical to address the shortages of health products, including diagnostics, vaccines and
therapeutics, because it could enable the WTO members to prevent pharmaceutical giants
from using IP to block generic production.
SubQuestion No : 20

Q.20 The TRIPS agreement is governed by:

Ans X 1. World Health Organisation (WHO)
«" 2. World Trade Organisation (WTO)
< 3. United States of America (USA)
< 4. United Nations (UN)

Question ID : 1034353760
Status : Answered
Chosen Option : 4




Section : Basic Knowledge of Computer Operation

Q.1 gdam A weferd 3cure) 1 fasiTud &R 3 31R ST BT LA 3TbiNd B & foig fmfafea ¥ 3
o =T fFAR (information kiosks) T 3uaT fsar SiraT &2

Ans X 1. WRY SEMTA
< 2. fem
o 3.9
X 4. AR

Question ID : 1034353790
Status : Answered
Chosen Option : 3

Q.2 Which of the following is NOT a valid file system of Windows Operating System?
Ans X 1.NTFS

« 2. WQFS
X 3.FAT
X 4. exFAT

Question ID : 1034353769
Status : Answered
Chosen Option : 1

Q.3 The Android mobile operating system, which is an open and free software stack, was
developed by which of the following companies?

Ans X 1. Research in Motion

25 2. Apple

" 3. Google

< 4. Samsung

Question ID : 1034353789
Status : Answered
Chosen Option : 3
Q.4 With reference to a computer mouse, the left button helps items, while the
right button helps the menu.

Ans 4 1. select, display
5 2. display, select
25 3. read, write
25 4. write, read

Question ID : 1034353770
Status : Answered
Chosen Option : 1

Q.5 What is the result of ‘=2+2/2*2’ in MS-Excel 2019?
Ans X 1.1

X238
X 3.2
o 4.4

Question ID : 1034353779
Status : Answered
Chosen Option : 1




Q.6 e H @rE) HrET AT TETST B THH 3R &Pt (accuracy) & I A B
&TdT P 3k Ul (diligence) HET ST &1

Ans X" 1 Tfd (Speed)
¥ 2. Jdadr (Consistency)
25 3. dcRdr (Willingness)
X 4. &MdT (Capacity)

Question ID : 1034353763
Status : Answered
Chosen Option : 1

Q.7 Which of the following devices is widely used to play games on a computer?
Ans X 1.Keyboard

< 2. Touchpad
< 3. Scanner
o 4. Joystick

Question ID : 1034353771
Status : Answered
Chosen Option : 4

Q.8 fAmfefEa ¥ A P AT Tb W (proprietary) ATFEIIR TEl 82
Ans X 1. fdesT (Windows)

25 2. Tud HEB3NGH (Apple macOS)

o 3. f&7a9 (Linux)

24X 4. BT (Skype)

Question ID : 1034353775
Status : Answered
Chosen Option : 4

Q.9 Which chapter of Indian Information Technology Act, 2000 deals with ‘Regulation of
Certifying Authorities’?

Ans X 1. Chapter V
¥ 2. Chapter VI
< 3. Chapter Ill
< 4. Chapter |

Question ID : 1034353782
Status : Not Answered
Chosen Option : --

Q.10 Who issues digital certificates?
Ans X 1. Encryption Authorities

5 2. Internet Assigned Numbers Authorities
2% 3. Task force Authorities

«# 4. Certifying Authority

Question ID : 1034353785
Status : Answered
Chosen Option : 4




Q.11 The information stored in the RAM can be checked with the help of
Ans X 1.hard disk

 2.CMOS
o 3.BIOS
75 4. kernel

Question ID : 1034353765
Status : Answered
Chosen Option : 2

Q.12 In which year was the first smartphone IBM Simon released?
Ans X 1.1995

% 2.1993
% 3.199
o 4.1994

Question ID : 1034353788
Status : Not Answered
Chosen Option : --

Q.13 Which of the following kinds of ROM is masked off at the time of production?
Ans 1. MROM

X 2. PROM
5 3. EPROM
/X 4. EEPROM

Question ID : 1034353767
Status : Answered
Chosen Option : 2

Q.14 Almost every computer comes with a small amount of ROM containing the
Ans X 1.freeware

25 2. utility software
«# 3. boot firmware
< 4. shareware

Question ID : 1034353766
Status : Answered
Chosen Option : 2

Q.15 =1 yome (information system), ETE3RR 3il¥ T Teb YASHE Bt 21
Ans X 1. UsRR

o 2. TTRAR

< 3. HeARR

X 4. TTERR

Question ID : 1034353791
Status : Answered
Chosen Option : 2




Q.16 Identify whether the given statements related to the characteristics of a computer are
true or false.
i) Automation is a special feature of computers.
ii) Reliability refers to the capability of giving consistent result for similar set of data.

Ans X 1. (i)-False (ii)-True
o 2. (i)-True (ii)-True
25 3. (i)-False (ii)-False
254, (i)-True (ii)-False

Question ID : 1034353762
Status : Answered
Chosen Option : 2

Q.17 WinZip software is an example of a/an
Ans X 1. open source software

< 2. driver software
< 3. programming software

«" 4. shareware

Question ID : 1034353773
Status : Answered
Chosen Option : 4

Q.18 In which year was the Information Technology Amendment Bill passed in Lok Sabha?
Ans X 1.2006

o 2.2008
2 3.2010
X 4.2002

Question ID : 1034353783
Status : Answered
Chosen Option : 3

Q.19 Which of the following E-governance initiatives of India in Andhra Pradesh is designed
to provide ‘Government to Citizen’ and ‘e-Business to Citizen’ services?

Ans X 1.Bhoomi
" 2. e-Seva
< 3. e-Courts
< 4. Khajane

Question ID : 1034353787
Status : Answered
Chosen Option : 2

Q.20 Digital signatures are based on which of the following cryptography?
Ans X 1. Private key

< 2. Super key
" 3. Public key
< 4. Foreign key

Question ID : 1034353784
Status : Not Answered
Chosen Option : --




Q.21 Which of the following keyboard shortcut is used to split the document window in MS-
Word 2019?

Ans X 1. Alt+S
o 2.Ctrl + Alt+S
X 3.ctrl+S
X 4. Ctrl + Alt+ W

Question ID : 1034353776
Status : Answered
Chosen Option : 2

Q.22 Which of the following options contains color schemes with custom formatting, styles,
fonts, and layouts in MS-PowerPoint 2019?

Ans X 1.Report
25 2. Transition
" 3. Themes
5 4. Animation

Question ID : 1034353781
Status : Answered
Chosen Option : 4

Q.23 Which of the following communicates with the hardware and control devices and
peripherals attached to a computer?

Ans X 1. Shareware
25 2. Application software
5 3. Freeware

«" 4. Device driver software

Question ID : 1034353772
Status : Answered
Chosen Option : 2

Q.24 UHUH-UTaRUTEE (MS-PowerPoint) 2019 ¥, ¥ae &4 AT Waffd %3 3g Rew # Bler v &
fore o & & fa fareser 1 3w fasa smam 82

Ans X 1. e@dd (Thumbnail)
X 2. fadd TR (Quick Access)
7< 3. ad TRaT (Work Area)
o 4. P (Collapse)

Question ID : 1034353780
Status : Not Answered
Chosen Option : --

Q.25 The ‘Margins’ option is available under which of the following tabs of the ribbon menu
in MS-Word 2019?

Ans X 1. Developer
X 2. File
25 3. Home
«" 4. Layout

Question ID : 1034353777
Status : Answered
Chosen Option : 4




Q.26 To apply cell border in MS-Excel 2019, which of the following groups must be selected
under the Home tab?

Ans X 1. Alignment
«” 2. Font

< 3. Styles
25 4. Number

Question ID : 1034353778
Status : Answered
Chosen Option : 1

Q.27 sffRfET fGwen & e ¥, 5 &Y a1 QY A 31fs MU v S Ig A WA A gd & AT s
el IraT B

Ans X1 ST WA
X 2. AR
X 3. STe 3rprsfeT
o 4. T ATHT

Question ID : 1034353774
Status : Not Answered
Chosen Option : --

Q.28 Which of the following refers to e-Democracy?
Ans X 1. To provide services to bring the state closer to the citizens

«” 2. The use of IT to facilitate the ability of all sections of society to participate in the
governance of the state

< 3. The use of ICTs to modernize the state

< 4. The use of IT to improve the ability of the government to address the needs of society

Question ID : 1034353786
Status : Answered
Chosen Option : 2

Q.29 Which of the given statements is true?
i) SRAM is slower than DRAM.
ii) DRAM uses capacitors and a few transistors.

Ans X 1.0nly (i)
< 2. Both (i) and (i)
25 3. Neither (i) nor (ii)
& 4. Only (ii)

Question ID : 1034353764
Status : Answered
Chosen Option : 4

Q.30 Which of the following is a basic file system for Unix systems?
Ans X 1.GPFS

& 2. UFS
X 3.JFS
X 4.XFS

Question ID : 1034353768
Status : Not Answered
Chosen Option : --




Q.31
Ans

Comprehension:
Read the given passage and answer the questions that follow.

Computer memory is the storage space in the computer, where data is to be processed and
instructions required for processing are stored. Memory is divided into cells and each cell has
a unique address. Memory is divided into three types namely, cache memory, primary/main
memory, and secondary memory. Cache memory is a very high speed semiconductor
memory and is placed between CPU and main memory. The parts of data and programs are
transferred from the disk to cache memory by the operating system, from where the CPU can
access them. Advantages of cache memory include faster and less access time when
compared with main memory. And disadvantages include, it is limited in space and expensive.
Primary memory holds only those data and instructions on which the computer is currently
working. These memories are not as fast as registers. It is divided into two subcategories:
RAM and ROM. Characteristics of this memory are it is faster than secondary memory, data is
lost in case power is switched OFF and a computer cannot run without the primary memory.
Secondary memory is also known as external memory or non-volatile. These are used for
storing data/information permanently. CPU directly does not access these memories, instead
they are accessed via input-output routines. Examples include hard disk, CD-ROM, DVD, etc.
Characteristics of this memory include: these are magnetic and optical memories, are slower
than primary memories and a computer may run without the secondary memory. It is known
as the backup memory.

SubQuestion No : 31
Computers can operate without
X 1. registers

¥ 2. secondary memory
X 3.ROM
< 4. main memory

Question ID
Status

Chosen Option :

: 1034353797
: Answered
2

Comprehension:
Read the given passage and answer the questions that follow.

Computer memory is the storage space in the computer, where data is to be processed and
instructions required for processing are stored. Memory is divided into cells and each cell has
a unique address. Memory is divided into three types namely, cache memory, primary/main
memory, and secondary memory. Cache memory is a very high speed semiconductor
memory and is placed between CPU and main memory. The parts of data and programs are
transferred from the disk to cache memory by the operating system, from where the CPU can
access them. Advantages of cache memory include faster and less access time when
compared with main memory. And disadvantages include, it is limited in space and expensive.
Primary memory holds only those data and instructions on which the computer is currently
working. These memories are not as fast as registers. It is divided into two subcategories:
RAM and ROM. Characteristics of this memory are it is faster than secondary memory, data is
lost in case power is switched OFF and a computer cannot run without the primary memory.
Secondary memory is also known as external memory or non-volatile. These are used for
storing data/information permanently. CPU directly does not access these memories, instead
they are accessed via input-output routines. Examples include hard disk, CD-ROM, DVD, etc.
Characteristics of this memory include: these are magnetic and optical memories, are slower
than primary memories and a computer may run without the secondary memory. It is known
as the backup memory.

SubQuestion No : 32

Q.32 Which of the following statements is FALSE?

Ans

< 1. Computer memory is used for data storage and processing.
¥ 2. Secondary memory is direct access memory.
< 3. Primary memory is faster than secondary memory.

25 4. Primary memory is also referred to as main memory.

Question ID
Status

Chosen Option :

: 1034353795
: Answered
2




Q.33
Ans

Comprehension:
Read the given passage and answer the questions that follow.

Computer memory is the storage space in the computer, where data is to be processed and
instructions required for processing are stored. Memory is divided into cells and each cell has
a unique address. Memory is divided into three types namely, cache memory, primary/main
memory, and secondary memory. Cache memory is a very high speed semiconductor
memory and is placed between CPU and main memory. The parts of data and programs are
transferred from the disk to cache memory by the operating system, from where the CPU can
access them. Advantages of cache memory include faster and less access time when
compared with main memory. And disadvantages include, it is limited in space and expensive.
Primary memory holds only those data and instructions on which the computer is currently
working. These memories are not as fast as registers. It is divided into two subcategories:
RAM and ROM. Characteristics of this memory are it is faster than secondary memory, data is
lost in case power is switched OFF and a computer cannot run without the primary memory.
Secondary memory is also known as external memory or non-volatile. These are used for
storing data/information permanently. CPU directly does not access these memories, instead
they are accessed via input-output routines. Examples include hard disk, CD-ROM, DVD, etc.
Characteristics of this memory include: these are magnetic and optical memories, are slower
than primary memories and a computer may run without the secondary memory. It is known
as the backup memory.

SubQuestion No : 33
Which of the following is a magnetic memory?
< 1. Cache

&< 2.ROM
¥ 3. Hard disk
X 4.RAM

Question ID
Status

Chosen Option :

: 1034353796
: Answered
3

Q.34
Ans

Comprehension:
Read the given passage and answer the questions that follow.

Computer memory is the storage space in the computer, where data is to be processed and
instructions required for processing are stored. Memory is divided into cells and each cell has
a unique address. Memory is divided into three types namely, cache memory, primary/main
memory, and secondary memory. Cache memory is a very high speed semiconductor
memory and is placed between CPU and main memory. The parts of data and programs are
transferred from the disk to cache memory by the operating system, from where the CPU can
access them. Advantages of cache memory include faster and less access time when
compared with main memory. And disadvantages include, it is limited in space and expensive.
Primary memory holds only those data and instructions on which the computer is currently
working. These memories are not as fast as registers. It is divided into two subcategories:
RAM and ROM. Characteristics of this memory are it is faster than secondary memory, data is
lost in case power is switched OFF and a computer cannot run without the primary memory.
Secondary memory is also known as external memory or non-volatile. These are used for
storing data/information permanently. CPU directly does not access these memories, instead
they are accessed via input-output routines. Examples include hard disk, CD-ROM, DVD, etc.
Characteristics of this memory include: these are magnetic and optical memories, are slower
than primary memories and a computer may run without the secondary memory. It is known
as the backup memory.

SubQuestion No : 34
Cache memory acts as buffer between the and
< 1. registers, hard disk

X 2. ROM, RAM
2< 3. ROM, hard disk
& 4. CPU, RAM

Question ID
Status

Chosen Option :

: 1034353794
: Answered
4




Comprehension:
Read the given passage and answer the questions that follow.

Computer memory is the storage space in the computer, where data is to be processed and
instructions required for processing are stored. Memory is divided into cells and each cell has
a unique address. Memory is divided into three types namely, cache memory, primary/main
memory, and secondary memory. Cache memory is a very high speed semiconductor
memory and is placed between CPU and main memory. The parts of data and programs are
transferred from the disk to cache memory by the operating system, from where the CPU can
access them. Advantages of cache memory include faster and less access time when
compared with main memory. And disadvantages include, it is limited in space and expensive.
Primary memory holds only those data and instructions on which the computer is currently
working. These memories are not as fast as registers. It is divided into two subcategories:
RAM and ROM. Characteristics of this memory are it is faster than secondary memory, data is
lost in case power is switched OFF and a computer cannot run without the primary memory.
Secondary memory is also known as external memory or non-volatile. These are used for
storing data/information permanently. CPU directly does not access these memories, instead
they are accessed via input-output routines. Examples include hard disk, CD-ROM, DVD, etc.
Characteristics of this memory include: these are magnetic and optical memories, are slower
than primary memories and a computer may run without the secondary memory. It is known
as the backup memory.

SubQuestion No : 35

Q.35 Identify the option that arranges the memory types in correct ascending order as far as
access speed of memories is concerned.

Ans X 1. Cache memory < Secondary memory < Primary Memory
«" 2. Secondary memory < Primary Memory < Cache memory
< 3. Primary Memory < Secondary memory < Cache memory

< 4. Cache memory < Primary Memory < Secondary memory

Question ID : 1034353793
Status : Answered
Chosen Option : 2

Comprehension:
Read the given passage and answer the questions that follow.

An input device of a computer is hardware that allows the user to provide data, information or
control instructions for interaction, processing, and control. Data is entered into a computer in
raw format, converted into an understandable language by input devices and processed by
the CPU to produce an output. Input devices are also called peripheral devices. There are
different categories of input devices. They are pointing, keyboard, speech, or voice, draw and
recognition devices.

The keyboard is a primary input device used to enter data and commands in a computer
system. A normal keyboard has alphabetic keys, function keys, number keys, arrow keys and
control keys. Most of the keyboards comes in different sizes — 84 keys or 101/102 or 108
keys. Most of the keyboards have a QWERTY layout. The mouse is the most common and
popular input device, which uses a point-and-click operation. In general, the mouse has left
and right buttons and some may have a middle roller key button also. A modern mouse uses
optical technology (laser) to control or track the movement of the cursor.

Joysticks are widely used input devices for playing games on computer. It can also be used
as a pointing device like a mouse. The touchpad, also known as a trackpad, is an input device
and is integrated into a laptop. It is a point device like a surface to detect movements of
fingers and move the pointer accordingly. It is a common alternative to the mouse. The
microphone is a voice input device that allows users to input voice into a computer system.
Mics read sounds from one’s surrounding and convert analog sound waves to electrical
signals. These are further converted to digital form and stored on a computer. Other input
devices include light pen, digital camera, webcam, MICR, OCR, stylus, graphic tablet, etc.

SubQuestion No : 36
Q.36 A computer mouse will have a minimum of how many buttons?
Ans X 1.Four

" 2. Two

X 3. Five
X 4.0ne

Question ID : 1034353801
Status : Answered
Chosen Option : 2




Q.37
Ans

Comprehension:
Read the given passage and answer the questions that follow.

An input device of a computer is hardware that allows the user to provide data, information or
control instructions for interaction, processing, and control. Data is entered into a computer in
raw format, converted into an understandable language by input devices and processed by
the CPU to produce an output. Input devices are also called peripheral devices. There are
different categories of input devices. They are pointing, keyboard, speech, or voice, draw and
recognition devices.

The keyboard is a primary input device used to enter data and commands in a computer
system. A normal keyboard has alphabetic keys, function keys, number keys, arrow keys and
control keys. Most of the keyboards comes in different sizes — 84 keys or 101/102 or 108
keys. Most of the keyboards have a QWERTY layout. The mouse is the most common and
popular input device, which uses a point-and-click operation. In general, the mouse has left
and right buttons and some may have a middle roller key button also. A modern mouse uses
optical technology (laser) to control or track the movement of the cursor.

Joysticks are widely used input devices for playing games on computer. It can also be used
as a pointing device like a mouse. The touchpad, also known as a trackpad, is an input device
and is integrated into a laptop. It is a point device like a surface to detect movements of
fingers and move the pointer accordingly. It is a common alternative to the mouse. The
microphone is a voice input device that allows users to input voice into a computer system.
Mics read sounds from one’s surrounding and convert analog sound waves to electrical
signals. These are further converted to digital form and stored on a computer. Other input
devices include light pen, digital camera, webcam, MICR, OCR, stylus, graphic tablet, etc.

SubQuestion No : 37
Which of the following is NOT a pointing input device?
«" 1. Keyboard

< 2. Joystick
< 3. Mouse
< 4. Touchpad

Question ID : 1034353799
Status : Answered
Chosen Option : 1

Q.38
Ans

Comprehension:
Read the given passage and answer the questions that follow.

An input device of a computer is hardware that allows the user to provide data, information or
control instructions for interaction, processing, and control. Data is entered into a computer in
raw format, converted into an understandable language by input devices and processed by
the CPU to produce an output. Input devices are also called peripheral devices. There are
different categories of input devices. They are pointing, keyboard, speech, or voice, draw and
recognition devices.

The keyboard is a primary input device used to enter data and commands in a computer
system. A normal keyboard has alphabetic keys, function keys, number keys, arrow keys and
control keys. Most of the keyboards comes in different sizes — 84 keys or 101/102 or 108
keys. Most of the keyboards have a QWERTY layout. The mouse is the most common and
popular input device, which uses a point-and-click operation. In general, the mouse has left
and right buttons and some may have a middle roller key button also. A modern mouse uses
optical technology (laser) to control or track the movement of the cursor.

Joysticks are widely used input devices for playing games on computer. It can also be used
as a pointing device like a mouse. The touchpad, also known as a trackpad, is an input device
and is integrated into a laptop. It is a point device like a surface to detect movements of
fingers and move the pointer accordingly. It is a common alternative to the mouse. The
microphone is a voice input device that allows users to input voice into a computer system.
Mics read sounds from one’s surrounding and convert analog sound waves to electrical
signals. These are further converted to digital form and stored on a computer. Other input
devices include light pen, digital camera, webcam, MICR, OCR, stylus, graphic tablet, etc.

SubQuestion No : 38
Which of the following statements is true?

«” 1. A'touchpad is a pointing device.

< 2. A microphone converts electrical signals taken from one’s surrounding into analog
signals.

< 3. Touchpads are not integrated into laptops.

X 4. Most keyboards use QSLRTY layout.

Question ID : 1034353800
Status : Answered
Chosen Option : 1




Comprehension:
Read the given passage and answer the questions that follow.

An input device of a computer is hardware that allows the user to provide data, information or
control instructions for interaction, processing, and control. Data is entered into a computer in
raw format, converted into an understandable language by input devices and processed by
the CPU to produce an output. Input devices are also called peripheral devices. There are
different categories of input devices. They are pointing, keyboard, speech, or voice, draw and
recognition devices.

The keyboard is a primary input device used to enter data and commands in a computer
system. A normal keyboard has alphabetic keys, function keys, number keys, arrow keys and
control keys. Most of the keyboards comes in different sizes — 84 keys or 101/102 or 108
keys. Most of the keyboards have a QWERTY layout. The mouse is the most common and
popular input device, which uses a point-and-click operation. In general, the mouse has left
and right buttons and some may have a middle roller key button also. A modern mouse uses
optical technology (laser) to control or track the movement of the cursor.

Joysticks are widely used input devices for playing games on computer. It can also be used
as a pointing device like a mouse. The touchpad, also known as a trackpad, is an input device
and is integrated into a laptop. It is a point device like a surface to detect movements of
fingers and move the pointer accordingly. It is a common alternative to the mouse. The
microphone is a voice input device that allows users to input voice into a computer system.
Mics read sounds from one’s surrounding and convert analog sound waves to electrical
signals. These are further converted to digital form and stored on a computer. Other input
devices include light pen, digital camera, webcam, MICR, OCR, stylus, graphic tablet, etc.

SubQuestion No : 39
Q.39 Which of the following is NOT a valid category of input devices?
Ans X 1. Pointing

< 2. Draw
" 3. Colored
< 4. Recognition

Question ID : 1034353802
Status : Answered
Chosen Option : 3




Comprehension:
Read the given passage and answer the questions that follow.

An input device of a computer is hardware that allows the user to provide data, information or
control instructions for interaction, processing, and control. Data is entered into a computer in
raw format, converted into an understandable language by input devices and processed by
the CPU to produce an output. Input devices are also called peripheral devices. There are
different categories of input devices. They are pointing, keyboard, speech, or voice, draw and
recognition devices.

The keyboard is a primary input device used to enter data and commands in a computer
system. A normal keyboard has alphabetic keys, function keys, number keys, arrow keys and
control keys. Most of the keyboards comes in different sizes — 84 keys or 101/102 or 108
keys. Most of the keyboards have a QWERTY layout. The mouse is the most common and
popular input device, which uses a point-and-click operation. In general, the mouse has left
and right buttons and some may have a middle roller key button also. A modern mouse uses
optical technology (laser) to control or track the movement of the cursor.

Joysticks are widely used input devices for playing games on computer. It can also be used
as a pointing device like a mouse. The touchpad, also known as a trackpad, is an input device
and is integrated into a laptop. It is a point device like a surface to detect movements of
fingers and move the pointer accordingly. It is a common alternative to the mouse. The
microphone is a voice input device that allows users to input voice into a computer system.
Mics read sounds from one’s surrounding and convert analog sound waves to electrical
signals. These are further converted to digital form and stored on a computer. Other input
devices include light pen, digital camera, webcam, MICR, OCR, stylus, graphic tablet, etc.

SubQuestion No : 40

Q.40 Which of the given statements is true?
i) Mouse is available only in wired version.
ii) MICR and OCR are examples of input devices.

Ans X 1.0nly (i)
" 2. Only (ii)
25 3. Both (i) and (ii)
< 4. Neither (i) nor (ii)

Question ID : 1034353803
Status : Answered
Chosen Option : 2
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